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1. a) Solve cosxdy=y(sinx— y)dx using Bemoulli's,

;ﬁf&ﬂﬁm Cad cosxdy=y(sinx— y)dx B g
I

b) Solve the Linear differenﬁal equation
sin 2x-:—i—.y = tan.x,

mwm Siﬂzx%—yztanx a.-h'aaiﬁrml

2 . ﬂ) Solve [F+Siﬂ9—0059)dr+r(5in9+cosa)dgz 0.

(r+sin ﬂﬁos-ﬁ}dr+f—{sin6+ cos8)d6 =0 ﬂﬁraﬁiﬁ'ﬁ?ﬁ!
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b) -Solve the differential equation.
2 (D}~ TD? + 14D —R)p =
sgdd wfier (D -7
gl EﬁTﬁ‘[ﬂF

e’ cos2x N
D2 414D -B)y =€ 052

method of variation of

1+ Solve (D? +4)y =tan2x by using
parameters

e 1 Frar 1 Rft o i e (D +4)y =
I gl AN - |

—tan2x
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4}_ a) Show tha 3
. ¥ )
framn & 3 solenoidal &1
b) Show that the vector

(2 = yr)i+ (2 — 20 + (2 )k
is [rrotational. Find it's scalar potennal.

femrd 5 dFer (2 - y2)i+(y* —zx)j + (2 —xy)k
[rrotational &1 T8 31fer &MdT &1 Ial S|

5. Verify Green's theorem for L[3I2-—8J’2] dx+[4y—6xy|dy .
Where C is the region bounded by x=0,y=0and x + y =1,
% i Y [ 357 -8)7 | de+[4y - 6xy)dy
FEl C, x=0,y=0 3R ¥ty =1 @ forr gam &7 1
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2 /(L) = 22 is different; .
show thal S rentiable but
6. 4 - ot analytic 4

o origlt _
ﬁ@ﬂﬁi f(Z)=zZ 3%l § BT et 7 s .
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Show that u(x,¥) = ¢“'sin2y g harmonic and
Jdetermine it's Llarmonic conjugate.
" =-2x -
frgnt 5 w(x,¥) =€ ""sin2y gmffye 3 IR gz RyiRg
¢ 5 7g gt IgH 8l
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. a)- ByResidue theorem, Ev@egﬁ tznz dz , where C:|Z|=2.
| @z’ aak
Q. . ¢ tan ;
m&‘rquﬁaqm,%m B — Zl dz TR C|ZI=2
. ¢ "5 —

b) Using Cauchy integral theorem, to evaluate the integral
2z

b)

[ ez -dz , where C is the circle |Z] = 2.
c(z—-1)(z-3) :
2z

e
Sy o ST A, Cauchy
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8. 2) Solve xtp? 4+ y2q? =22,

2
xp?+ 320 = 2% P g1 B

2
% Solve (D2 -4DD! 44D )7 « cos(x~2y)

(D? - 4DD' +4p" )Z = COS(x—?
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